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R Y L (mg/100g) 7 — 1
WHEA VA= (mg/100g) 5 - 1
e A (mg/100g) 12 = 1
WS Y oA v (mg/100g) 6 - !
wEE <Y v (mg/100g) 7 1
WHE T == AT F=2 (mg/100g) 7 = 1
WElE A F A= (mg/100g) 6 = 1
WRET AT X W (mg/100g) W X h 3 1 1
wEdkEt U (mg/100g) 7 — |
RN 2 I AR (mg/100g) 10 — 1
WRES Y (mg/100g) 6 — 1
WEHET 7 = (mg/100g) 24 — 1
W A FT (mg/100g) 1 = 1
HERET L = (mg/100g) 7 — 1
R o > (mg/100g) 7 - |
Wil o U (mg/100g) 3 - 1
WEHES A F (mg/100g) EHEh T 1 1
WHENY TR T T (mg/100g) R EH T 1 1
WERE A 2 i (g/100g) fEH s h 0.01 1
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